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1. Two concentric metal spherical shells, of radius a and b,
respectively, are separated by a weakly conducting material of

conductivity o as shown in Figure 1. What is the resistance
between the shells?
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2. Suppose the circuit in Figure 2 has been connected for a

long time when suddenly, at time { = 0, switch S is thrown,
bypassing the battery.

What is the current at : L - },«C"
any subsequent time t? £ /¢ = S8, 2 &
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The bar is driven sinusoidally so that x = 0.7sin 20t m. If B p

3. The conducting bar in Figure 3 slides on conduction rails. % * 3 T -
= 0.5 Tesla out of the paper, and L = 0.2 m, find V.
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